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LA ’ 3 L-1
SECTION ~ 1
|ue - 1
CHILD DEVELOPMENT AND PEDAGOGY
oo faer v foremmomea
There are 30 questions in all in this section.

All questions are compulsory.

TMEE HFA 30THE |

T T A § )
1. ‘Toy age’ refers to
(&) Early childhood (B} Late childhood
(C) Babyhood (13)] all of these,
‘et =t Ag' weT S
@A) vH e S (B) S e Hi
(© e (D) [ T8 |\t |
2.  Which of the following is not a characteristic of early childhood ?
{A) Pre-gang age (B) Imitative age
(C) Questioning age (D) Play age.
=1 QA wiA-wt qd Sreaasn o s w9 8 2
(A) T/ FE ° WA F EEA (B)  STIHIV HTA i e
(C) 991 WA &t aferen (D) WA I A |
3. In late childhood period children understand the conversion of which physical
entity(ies} ?
(A) Mass (B) Mass and number
(C) Number (D) Mass, number and area.
TR SeEEe § wrers ifos aegell ¥ R oawes o A v waem e ¥ 2
(&) FEEH B) AR AR dEm
() wen (D) FeEE, wem o & |

4. The meaning of development is
[A) - progressive series of changes
(B] progressive series of changes as a result of motivation
{C]  progressive series of changes as a result of motivation and experience
(D) series of changes as a result of maturation and experience.
farsrre o7 a7 ¥
&) ufiEdE @ SWIT T
(B) fUROn &F HEEET T A qREdH| B STal H@e
(C) ARYION TE SNE & FHEREEY T A TREHl H SULUTR NSl
(D) RYEE Ta STYE & Borawd & TRl IieRHl &t e |
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5.  Which of the following statements {s not correct about development ?

Y
{B)
Q)
D)

Each phase of the development has hazards
Development is not aided by stimulation
Development is affected by cultural changes

Each phase of the development has characteristic behaviour.

ey el d A AsR-wsam s =T § 2

(A)
(B)
(€
D)

TSR H1 TS ST F ST TR §

forarme Sham / Seren &7 § €l e g

forerrer WiegTerr TRERET A Tt o 2

oo =) yeer Aaven HY oo fedamd gt ¥

6.  Which of the following development tasks is not appropriate to the late childhood ?

Y
(B
(&)
(D)

Learning physical skills necessary for ordinary games
Achieving 2 masculine or feminine social role
Achieving personal independence

Learning to get along with age-mates.

e & ¥ wH-w faoaras S SW SeaEe & U €l 2

(A
(B)
(C)
(D)

A Gt & ford snavas TR Feeand S
gesttea @ feifem |mifses s & w" s
Agftee STAMT Ui F

Y THIY SAEI F WY @A e |

7. Training in advance of normal maturation is generally

(A)  highly heneficial with respect to performance of the common skills

{B) harmful from an overall point of view

(C) beneficial from a long range point of view

(D) beneficial or harmful depending on the method used in training.

HHF IRTEeE § e FiiEE w0 W

@) W wNE e % et ¥ wge e e 2

B) o fuen W ofERE S g

© Sewfas g @ aveR) e d ,

(D) el g1 W BIERe, 98 39 W i s @ e wfer A few wom &t fafy = weim

feamma & |
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8.  Five year old Raju is watching a storm from his window. A huge bolt of lightning is
followed by a tremendous thunderclap and Raju jumps at the noise. This happens
several more times. There is a brief lull and another lightning bolt. Raju jumps in
response to bolt. Jumping of Raju is an example of learning theory of
(8) Classical conditioning (B) Operant conditioning
(C)  Trial and Error (D) None of these,
ore 5% 1 I AT fagH F et qEA 1 deaw § | faeedt S ® @R wewa w1 aEe
A § 1 T AR T F IDEA § | IR-9R IE w1 E ¥ ) o Fo [ wiw % Tven feeeh
g;@fw% | T forsedt &) TSI g Sowa ¥ | U9 1 So Han & e faers s saE

7
(A) T STe (B) TohamEm sTErE
© T I O T HE AR

9.  Which of the following is an example of positive punishment ?

() Redicule by friends (B) Loss of titne with friends
(C) Ceaée nagging (D) All of these.

HHRITHF U8 &1 T § |/ HIF-91 e 7 2

() e % 5o ™ (B) fiE % WY a9 R S
(€ WA frere &g w (D) =T S uet

10. Which of the following statements is not appropriate to motivation as a process ?
(A) It causes a person to move towards a goal
(B) It satisfies the person's biological needs
(C) It helps in achieving a psychological ambition
(D) It keeps away from an unpleasant situation.
e B F - wd SRR s aiEe % et W 3ugw i ¥ 2
(&) a5 Fl qed A e R
(B) ¥g Al Tt yRI® wavakae & Hgfe & §
(€ T& T aRiEn B gH wA H wETA F ¥
(D) uE =rE w I e d R wm
11. The temporary change in behaviour due to continuous exposure to stimuli is called

{A)] Habituation (B) Learning

(C) Temporary learning (D) Motivation,

foret s & R e 97 @ 7R # ' e sl aftec e @
(A)  FIEE (B) 3w

(C) srrh s (D) ST |
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12.

13.

14.

15.

6 [a]

The teachers should not use which of the following ways to change the attitudes of
students ?

(&)  Coercive persuasion

{B) - Repetition of idea or assertion

(C) Endorsement by an admired person

(D)  Association of the message with a good feeling.
faenteial st sfigfaal 4 e & fau e § § foem fafy @ 7o swearass 1 78 & =g, ?
(A <A 9 o 9@ @ fEr ¥ fae s w e

(B) ToE TR =1 BT SN gRA{ET ATER

(C) T weiaHE =af® & 370 Tads v @il

(D) Hw & e dE=d T & )

Which of the following statements regarding achievement mottve is true ?

(A}  Achievement motive is necessary for survival

(B) I the satisfaction of personal potentialities is emphasized, the achievement

motive may be classified as a growth motive
(C) If the stress is on competition among people, the achievement motive can be
considered a social motive

(D)  All of these, -
Iywie A Foe i R A A - wm R R ?

() ST SR Sifaa % fau savEs &

B) 3% SAfETa wuared & S Aeaul & 7 IUTe H9ITE H1 fobre I & I WHA §
(€ =f =afed! & wor yfadiffan @ &6 8, @ Swaf A & grnfvs Sl #3731

Hehdl ®
D) T8 A& |
During 6 to 10 years children start taking interest in
(A) Religion (B) Human body
(C) Sex (D)  School.
68 10 3% @ ey ¥ woih SfE o TRes F ¥
(a) w=H (B) HE IRR H
(Q) . A Tre o (D) fammea#

Which theory believes that human mind is like an iceberg mostly hidden and has three
levels of consciousness ?

{a)  Trait theory (B) Type theory

(C) Psychoanalytical theory (D) Behaviourist theory.

% fagra =1 w3 ® fF O ofass o oF # 9t wgm ¥ e W i afustme e
T e SuH A F A 'R R 2

@) T fagr (B) R fag=

© wAfEweREE R (D) =aFErRaR f9gr |
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17.

18.

19.

20.

7 L-1
Some people say that whenever anger draws upon children, they go to play. Until they
feel better which of the defence mechanisms is represented by this behaviour ?
(8)  Projection (B)  Displacement
(C) Reaction formation (D) Sublimation.

FB WM &1 HeT § T o= S T A W 3 wen & foy v oW ¥ | 99 99 Tm e
¥ I8 Tegy TE A, 3% =R § 3 § 3 o vfawen o= vfeofe @ € 2

(A)  wEu B) - fargme

(0 i Fror (D) SR !

Adjustment means accommodating oneself to various circumstances in order to satisfy
(A) others (B) motives

(C} goals (D) needs.

AR § qed = o fafi aiifefa 8 stagem s & o wee s w3

(a) TR A (B) U

) e =l (D) SETEEAE & |

Which of the following behaviours is not a manifestation of emotional disturbance ?
(A) Delinquency (B) Bullying nature

(C) Truancy (D) = Autism.

= § @ F-w sagr wiEAess M sl T8 w2

(4) T FAIY (B) WS T B Hem

(C) e (D) e |

A provision for education for the childrén with disabilities can be done through

(a) Inclusive education (B) Mainstreaming

(C) Integration (D) None of these.

frame SroeRl # el & g wEEE fea s v @

(8 T fen g B TET Ul i TR

(© THEEREH BN (D) T A HE T |

Which of the following is not a characteristic of mental retardation ?

(A} L.Q. between 25 to 70

(B Learning in a slow pace and unable to do the activities of daily routine
(C)© Poor adaptation with the environment

(D) _Poor interpersonal relations.

= § Q@ -4t gefee weear &) fagom =1 © 2

@A) s TR w 257 70% A O

B) o i & e i Shem ) frmall w1 a w um
(C) e % WY STggHer A ok

(D) ST=rerafEe Sl 1 HHER B

I 101 [ P.T.O.
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21.

22.

23.

8 | [a]
Which of the following is more important for keeping the good mental health of
students ?
(A) Provision for curricular activities
(B) Freedom of expression
(C) Variety of interests
(D) Teacher's role and school environment.
feenfelei % 1= umfas e Y 973 @A F o fm F @ s Wi sHfus aeoqe ¢ 7
(&) e fFamst w wEum
(B) Afvyeats i Tor=
(© wf=al ®i e
(D) A9k skt Yfieht us faener sraERo |
‘Child belonging to weaker section' means
(A) A child belonging to such parents whose annual income is low
(B) A child belonging to such parents who come under the disadvantaged group

(C) A child belonging to such parents who come under the category of below poverty
line

(D) A child belonging to such parents whose annual income is lower than the
minimum limit specified by the appropriate government.

‘SR o o Ao ¥ e §

(A) UF el & aes A fae) aifi® oa we §

B) TR e & wer @ S e i 4§ e ¥

(€ @ sfvEE! o | S s W § AN w5 @ § e €

(D) UH sIfEel & TRl 4 SR 5 il = J@m ow aifts o w6 R iR
7| @md §

The Right to Education Act, 2009 specifies that if the number of children admitted for
first class fo fifth class is above two hundred then the pupil-teacher ratio required is
(a) thirty B) forty

{C)  forty-five (D) fifty.

foren =1 st aifufre, 2009 A TRy fea T 2 5 ww- 1 A wa-5 9% ok W_y A W
Terenfefat =1 v 2 ot & srfusr €, o fonefi-srears smavTe oA B

~

(A) = (B) HTeiH

(C) Haew (D) 9=E |
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24,

25.

26.

27.

9 L1
Which of the following statements is incorrect about action research ?
(A) It is conducted by teachers and educational professionals
(B) It is conducted to solve a specific problem
(C) It is conducted to provide information for decision making at a broader level
(D) It is conducted to focus on the solutions of day to day problems at local level.
s TR F Tea Y fe i A Fh-m s e T € 2
(A) T8 FeUw! Ta i SeEE | g2 @i % g T S R
(B) s fodt fafere woem & 9mwm & fau fea s #
(© =ams 'R R oF F fau o dee & wd sed T e #
(D) ®IE ®R R USHU ) aaensf & quuE & fod Traems sga-am fearsm € )
Which of the following statements is not true about teaching ?
() Teaching is modifiable (B) Teaching is formal and informal
(C) Teaching is a science as wellasart (D} Teaching is instruction.
frdidsR-wsrsmE M daa & ¢ ?
() Toam & gur faan 51w & @) [ Togm i @ aErafE @
(€} Toam foam F wg-wy wen oE (D) Tagm AEIA T |

The National Curriculum Framework, 2005 under the heading 'quality dimension’ gives
more importance to

(A)  Physical resources

(B) Qualified and Motivated teachers _

(C) Experiences designed for the child in terms of knowledge

(D) Experiences designed for the child and curriculum reform.

T TrEIEE I, (2005 T IuE SaM’ WiYE & i s wee fom mn ®
(a) o s =

B) firferw v FhofE s =t

(C)or STt F fTC 79 & dgud § wifea srgeat &

(D) == & fore Wifga A99a 16 TeTRY gHE @ |

The National Curriculum Framework, 2005 suggests which of the following
examination reforms ?

(A) Class X examination optional

(B) State level exams to be conducted at different stages of school education
(C) Competitive entrance examinations optional

(D) Al of these.

R [ P.T.O.
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Tt areTeE T, 2005 # R # ¥ frw qiien weref gun i ggng ™ R 2

Y
(B)
(C)
(D)

eI X sk aiien Ufess _

Tereneret fingn =1 fafe sTEenetl | U9 W &1 wlien d=9em
wfgartt yawr wenstt =t Uss+

TH g st

28. Reducing stress and enhancing success in examination necessitates

®)
(B)
(€
(D)

A shift towards shorter examination
Examinations to be conducted at different stages of school education
Annual and half yearly exams

Setting up of different agencies for conducting entrance exams.

qETE i HY F T 0t o vwer % fau snavas §

A
(B)
©
(D)

=0 oty $1 wiemall | siqaw

Foramert foran =t fafus =won & whane 1 e masm
aiftfer wa stgantie g

ot waw wanetl & fou fafim wafaal #t s )

29. The purpose of evaluation is

(A) to label children as slow learner and gifted children

(B)  to identify children who need remediation

(C) to diagnose learning difficulties and problem areas

(D) to provide feedbagk on the extent to which we have been successful in imparting
education for a productive life.

YEih 1 3294 ¥

&) SEH F A | den T T g s % w9 9 /e w17

(B) 57 Sl Ft SU=RIeTs Hen i AEvEEd ], IR TwAR FAT

(C) &ftrm =t HisAEA 3 AHEn I & H YA ST

(D) SedEek Sad Wi % T foren fora <fimm a6 G o= wd R}, =1 yfEdioe g o |

30. 'For primary school children, which of the following is better ?

(A)
©

Video simulation B) Demonstrations

Hands-on-experiences (D}  All of these,

mufts feemeal & wrornl o foe e B R s are € 2

(A)
(©)

fadian s B) WA
= ¥ g fFa T A (D) FTHIATR

(L 101
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WUY - I
HTHT - I
fe=t
TR H FA 0T E |
[t 7 e € | O
31. ‘fommed’ v # ¥
@A) =y (B)
€ foazri=fy (D)
32. 'maA’' y= @1 wiu-fasse € < E
A 9+ E@;
(€ T+ ¥
33. e awA e
A} TH
\ (D)  SHAfTA |
34, ‘&R’ & AgEE & |
(n @R % HIR
g TEl T |
35. STIHR H1E e 7T el € 3% Fer e &
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B (D) vEEY |
6. ¥ HE ®Y H F9H F9TC
@  fem @  fafom
© T¥m D) g |
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45. o wgen v Weaare ¥ o S et wg fas @ vy e 3 e ¥

(A)  FHIRT HHE B) &F HAH

(C)  sToAEI9E |HH (D) fgm wEE |
46. FTE U

@A) ey (B)  iagy

(C) A (D) YRUTFTE |

47. ‘TR ¥ T84 9ren’ &1 Hel o e

@ e B) R

(C) “ray (D) e |
48. Sifaares | TeT §

(A e (B) o CitET

(C) omRel (D)~ (gwh
49. =1 4 @ frg arg ® HueH wRE § 2

(A) W REE W OWEd g © B [WRAERE

(C) s A FAsHT &1 v e (D) fErREEm? |
50. ‘9 w@d: g 9" wem' ‘g8 woe 8 _

(A)  TEYETEE HeAH B) FrsEma® wdAm

(C) T=gaTHE, GaH (D)  AFYEFaEE A |
51. HIH fhal RpITR RS & ?

(A) T T (B) HOUe W R

(C)™ g widiEd T a1 =iy (D) F=ME@ME |
52y ‘W&l o ‘TR’ T R wed € 2

@A) ST B E

(B) foue sid weem | wHA ¥ & Wi
() foud & w4l 3R 3me fowan &
(D) oo = 329, T fadg @R uw & o

AT (101



L-1
b3.

54,

55.

56.

57.

58,

59.

60.

14
‘Hga S MW@ & s o H ¥y B

(4) =ed B) wEER

Q@ FET (D) SR |

frma § @ fufgg @ @

(3 WBWE B g g i 3w S ¥
© YR gm R O WEgifrdmumamd
forelt & o =Y Iga W T e faow fag = v e s ® 2

(a) fawmeEE 97 (B)  oT9TO A1 IHI0 o

(€ wvEnEs fog o) Fus s |

a2t foem fagl amen o @

() S o oS e B, el ¥ 2 B Shwmar s (w2
© U S R, HE S (D) WuH, T ST ¥, wEl ¥ |

‘IR H T T R L. A TR TR ETE W e g 2

() W ame STEEE W ST B) H a1 FEEm g 34
) I smeEm fm W s formn (D) ™0 gE T

e HETEw ¥

() g e B) e F @ e

© =@ ¥ ygw giEa (D) @l # %= S |
‘g9 9 31 39 qerE o Freean o4 €

(&) g H T o (B) wET ¥ ET

) = w1 = F D) & FHEr |

“fagr T s &1 erfwa @
(A)  FERT 3 A (B) SEHN BT S
(O I (D) WO TS @A T |
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SECTION-1II
LANGUAGE 1
ENGLISH

There are 30 questions in all in this Section,

All questions are compulsory.

Choose the correct order of words ;

&) Do you live where ? (B) Do live you where ?
{C) Where do you live ? 18}] Where you live do ?
Which of the following has a correct sentence pattern ?

{A) He gave her a book. (B) He gave a book her.
(C)] He her gave a book. D) He a book gave her.

Complete the following sentence with the correct eption :
The sky suddenly became ................vevuns .

(A) darkly (B) dark
(C) darkness (D) darken.
Which one of the following words is a noun ?

(A)  Write (B) Wrote
{C) Written (D) Writer,

Supply the correct pronoun :

Arun and Lata have @ house. ........................ house is quite big.
(A}  Their B) His
(C) Her (D)  Theirs.

Pick out the verb from the following :
{A) < Create (B) Creation
(C) . Creator (D) Creativity.

Select the correct verb form :

Sachin has ... many records.
(A} brokened B) broken
(C) broke D) breakened

(L 101 | [ P.T..
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38.

39.

40,

41.

42,

43.

44,

16
Fill in the correct form of the verb :
The train had left before I ..................... the station.
(a) reached (B) had reached
(C) was reach D} ‘was reached.
Complete the following sentence :
IfWe oorireiniiiiennnnn a lottery, we will buy a car.
A willwin (B) have won
) won (D) win.
Supply an appropriate determiner :
Thave .....ccvviiiiiiannnnns glass of milk every morning,
@ the B a
() any (D) some.
Supply an appropriate determiner :
My neighbour is ........................ honest person.
@ a (B) an
(C) the (D) any.

Which one of the following sentences expresses ‘possibility” ?
There are dark clouds inthe SKY. ...ooiviveviniirnieninnns .

() It will rain () It shall rain
(C) It may rain (D) It must rain.
Pick out the sentence which has the meaning as the following :
No other-animal is as brave as the tiger.

(A) The tiger is a brave animal

(B]  The tiger is as brave as any other animal

[C)/ The tiger is the bravest of all animals

(D)  No animal, except the tiger, is brave.

Complete the following sentence with the correct form of adjective :
Anupam 1S ....ovvvvennienenenes boy in the whole of the class,

{a}  the tallest (B) the taller

(C) the most tall 1)) the more tall.

(T [101]
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49,

50.

51
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Pick out the sentence which has the same meaning as the following :

The last question was the most difficult question.

(A}l  The questions were very difficult.

(B) The last question was more difficult than any other question.

(C) Some questions were very difficult.

{D)  Only the last question was very difficult.

The father said to his daughter, “When will you return ?*

In Reported Speech the above sentence will be :

The father asked his daughter

(&)  when she would return ? (B} when would she return ?

(C) when she will return. (D)  when she would return.

The teacher said to the students, “Be polite in your speech.”

In Reported Speech the above sentence will be :

The teacher asked the students

(A) to be polite in their speech: (B} that be polite in their speech.
(C) to be polite in your speech. (D)  that be polite in your speech.
My neighbour said to me, “] am going out for a few days”.

In Reported speech the above sentence will be

My neighbour told me that

(A) he was going out for a few days. (B) he is going out for a few days.
(C) he will go out for a few days. (D) we are going out for a few days.

The word ‘magnificent’ is similar in meaning to

(A}  very large (B) grand

(€ huge (D)  royal.

The word ‘bliss’ has a meaning similar to

(A) ~ happiness (B) anger

(C)] darkness (D) innocence,

The opposite of ‘'similar’ is
(A) unsimilar (B) insimilar
(C} different ()] near.
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The word ‘approve’ is opposite in meaning to
(4)  confirm B) reject
(C) accept {D) return.
Pick out the word which is spelt correctly :

A sinceerly ' (B) sincierly

(C) sincerly (D) sincerely.

Which of the following words has correct spelling ?

(a) knowlege (B) knowledge

(C) knowlidge (D)  knowlige,

Which one of the following words begins { underlined ) with a different sound ?
(a)  kite (B)  cool

(©) chemistry ' D _city.

Point out the word which ends in a sound ( underlined ) different from that in other
words :

(8) who (B). . flew
(C slow (D)  shee,

Identify the word in which the middle sound { underlined } is different from that in
other words

(A) - seen (B) hit
(C) heat (D)  brief,

Which one of .the following words has a different sound ( underlined ) at the
beginning ?

A sure B cel

) sell - (D)  psychology.

Point out the word which has a different sound ( underlined ) at the end :
(a) / laugh (B) graph

(C} high (D)  half.

In which one of the following words do. the letters ‘th’ have a different sound
{ underlined ) ?

(4)  this (B)  that
() there (D)  thin

(I | 101 ]
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SECTION - III
LANGUAGE II
ENGLISH

There are 30 questions In all in this Section.
All questions are compulsory.

Which one of the following words is an adjective ?

[A] Use (B) Useful

(C) Using (D) Usefulness.

Complete the following sentence with the correct option :

My grandfather walks very ..........ccc.ccvevine .

(A) quick (B) fastly

©) fast (D) _~mice.

Which one of the following has a correct sentence pattern ?

{A)  She put all the books on the table. (B) She all the books on the table put.
(C} She put on the table all the books. (D)  She on the table put all the books.

Choose the correct pronoun to complete the following :

This boOK IS v.covvevnvvenvinennns sand that one is mine.
[A)  our book (B) your
(C) vyours (D) yours book.

Choose the correct word order :

{A) Why she did leave so early ? (B Why did she leave so early ?
(C) Why did so early she leave ? (D) Why so early did she leave ?
Pick-out the correct sentence :

(A) There are shop near my house. (B) There 1s shops near my house.
(C) * There are a shop near my house. (D)  There is a shop near my house.

Select the correct form of the verb :

She ..o the right answer.
Al knows 15]] know
(C}) is knowing D  known.

R [ P.T.0.
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Fill in the correct form of the verb :

When the phone rang, we ..........covvveeneen. television.
(A) watched (B) are watching
(C) were watch (D)  were watching,

If Radhika had received an invitation, she would have gone to the party.

The above sentence tells us that Radhika

(A)  did not receive the invitation (B) had received the invitation

(C) is waiting for the invitation (D} did not want to go to the party.

Fill in the appropriate determiner ;

The ring is made of ..................... gold.
(A) the (B) a
{C) x(no determiner) (D) any.

Complete the sentence by puiting an appropriate determiner :

You should always carry ........coceeemivinn umbrella with you.
(A a {(B) an
() any (D) afew.

Manjit said to Anisha, "Could you please open the window 7"

In the above sentence Manjit is

(Al  asking a question (B} giving an ﬁlstruction
(C} offering advice (D) making a request.
No other member in the family is as intelligent as Raju is.

The above sentence has the same meaning as

(A  Raju is intelligenter than any other member in the family

(B}  Raju is not intelligent

(C}  Raju Is more intelligent than any other member in the family

(D) Other members in the family are not intelligent.

Complete the following sentence with the correct form of the adjective :

It Was .occvviienicieiierirennens car he had ever driven.
(A) the more comfortable (B) the most comfortable
(C} the comfortable (D) the comfortablest.
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Choose the sentence which has the same meaning as the following sentence :
Mahim got a higher grade than any other student in the class.
(A) Mahim got the higher grade than any other student in the class
(B) Mahim got a high grade than any other student in the class
(C) Mahim got the highest grade in the class
(D) Mahim got the high most grade in the class.
Mohan said to Savita, "Can 1 borrow your book for a day ?"
In Reported Speech the above sentence will be
Mohan asked Savita
(A}  if he could borrow her book for a day
(B) if they could borrow her book for a day
[C} that could he borrow her book for a day
(D)  if that he could borrow her bock for a day.
She said to her brother, “Do not buy mangoes.”
In Reported Speech the above sentence will be
She asked her brother
(A)  to not buy mangoes (B) not to buy mangoes
(C) do not buy mangoes (D)  do not to buy mangoes.
The students said, “We want to learn a foreign language.”
In Reported Speech the above sentence will be

. The students said that

{4) they want tolearn a foreign language
(B) they wanted te learn a foreign language
(C) we want te learn a foreign language

(D] we wanted to learn a foreign language.

The word ‘courteous’ is similar in meaning to

(A)  related to a court B) impolite

[C} polite (D) kind.
Which word has a meaning similar to ‘significant’ ?

(A}  prominent (B) magnificent
(C) efficient (D)  important.

UL [ P.T.O.
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81. The opposite of the word ‘optimistic’ is

(A) pessimistic (B) hopeful

(C) ideal (D)  dull
82. The word 'innocent’ is opposite in meaning to that of

(Al  clever (B} ignorant

(C} active (DY gullty.
83. Pick out the word with the correct spelling :

(A} varaity (B varietey

(C}  wvarieti (D)  variety.

84. Which one of the following has the correct spelling ?

(A} impresive (B) imprescive
(C) impressive {D) impressiv.
85. Point out the word which begins with a different sound (‘underlined ) :
{A) house (B) home
{C) honour D) hen.
86. Which one of the following words gnds in a different sound ( underlined ) ?
(A) city (B) sky
€} by (D}  try.
87. Identify the word which has a different sound [ underlined ).in the middle :
A} foot (B)  should
{C} wood (D} {food.

88. In which one of the following words does the letter 1" have a different sound
( underlined ) ?
(Al  finish (B} final

([ fit (D) film.

89. Pick out the word tn which the letters ‘'ch’ have a different sound ( underlined ) :

{8 check (B) chess

(€) chemical D) chairman.
90. Which letter of the word 'comb’ is not spoken ?

@A c B o

) m (D)
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(A) THARS (B) we9

C) w== (D) &=
72. faozr mae fugse ga ] adf wfenr 37

(A)  AHWE (B) =&

(C) wEEa D} uz=x
73. #&9 Hg@& U= 3t G Afedt B & fao 7w &7

(A} dW9 [B] wF

©) = (D)  ymel
74, 3% ol Tat &9 fager Hew vyg-nwH &7

(B) nivge dar 3 () Ao = 3T mige o faor 3

(A} »HgE (B) &

c) (D) &=t vot

I 101
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76.

77,

78.

79,

80.

81.

82.

61 L-1
faosr wee ‘A9’ mEe = AUeOEd Bot 37

(A] 2T (B) famn

) =es D) fe®
‘sfte’ maw w fedut mae faoar dast 1

(A)  For-yfser (B) ueew
(C} drta D) w&es
‘agst = fags AvegES AEe a9t 37

@) fyss | g

€ afe D) s
Ul s féw i peet € foredt fam yae 37

A) Az (B) / bz
€] fozdhm= (D), &=t

(A) nis (B) H3

= (D) A

Tz T fednz & Beun J-

A} duet fes (B) va& &9
(©) ¥z dw (D} i aisyg

72 mue Tvg &7 2 Auel, TaiAt At Tai § wun &9 A8, €5 § ot fagr A 39

(A} « wefas (B) wra

€ FAmz (D} ferfia

fro2 feferraet fHoss 5t avadl €9 uw adt I Aazdl - feg T & fxa famn 37
(A) HgEs B) fimfes

(C) mues (D) aE &t

Iy P10,
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83.

84.

85.

86.

87.

88.

89.

90.

62
AaOSHE =t T8 T far farn @ d¢ ua?

(A) T TV (Bl & TEa

(C) ymasa (D)  ferfa
wH! FAT HY ffsar - e foar yaw wr o= 37

(A) FAuuat ferfHa (B) yAR=rex ferfya
(C) Iviea ferfum (D) HYswad fenfHa
o 3 fouz ¥R a9 & gae dev 3 wivat wied) e far Ny & «e3 i A 37
(a) == B) fad

(C) & D)  efdet

fait Ta ¢ 39 AuAz ads el faod feraH fdg & wos atst aet 39

(A) #dwe | 3R

€} ydam (D) " 2a

‘Wigt 3T e wores et faaa wiew gasi 37

(A) He AE (B) W sfax

[C) vrstEz R (D) ®HT dEn

b5 FIR' WIS B fAa mgw Yot 39 |

(A)  go-go ofaw (B)  gIwtut xgdirt
(C) dot & guw (D) JY-TYURT AT

“Hy o _HeT AUSr 9 gor & - »uE 3Et faas wiew gast 37

(A) fet F F&t R T FsE (B) 33 & I wime v J=

(C)/ Ru ¥ Fa mfox (D} FU 3 HaEa

“HA & gut ¥ w3 &t 3 - wrr wEt faTm vew daer 0

(A) faa ¥t Ao ¥ (B) &3 & 3¢t v fenmo fe
(C) ya = fors Awfus aew (D) Hez €3 fan aF a5 & a5
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62,

63.

63 L-1

vis : III
LT TR ||
rad

20 visul §6d 30 usall 8,

£35 Uretoll ralel 2nud] s20Bv2u1qa 6,

ol u@ede qidlad 61 2ll 65 Hrcllall ydrer 2HUl.

udcll azaue usa uldl Hiéldl Hlun 2218 WA ¥oldel it o ugepER [Bsst usl wa ! wdla
soisepiiell 2uadl it 2uuet 25asedi ASISR a1 . cdrie dl uvRl PiEna B, ik
2y 2ia i1 48 Al H8] 222 g & Al

sl aubig &9 Ais1een st 8. [Asud Gotou-Rraucua ansudi sdlo doit Bimeva 2nilis
vigewti 2ueai 8, uer auidl aviBadid usfaA Watdl sq 2vll 8. aubisgeA Hied 225k 201El
8, 2uadl 8 sl [Asaudl 8. cuedla 2i2g(del oudl i siq 2uel a2lnl tid 8. well o waeyd
de?

ABi-2edld 1A sR, Maqeydlad #i§Ra szdR, ddell Ha wowlad Geulffid s2eu2 dl mel
U MS ¥ g ! QG deetiel Ll az2iid A=l Rctotell unlal Madl dzoln 53, slaslA g1,
§9E, 2121, S, Ane, rRoeuHi 20 Aeeylad Al Sonas siRiaA Nagd’ di asrivedl (@26
alelidl Gese dld @usa 58 0. Ml 2wz Aldell dl slAdieN EEr2 HEetl ! ugRI-Y2Mou Ficietdl
dSuet, 13201, 2H127} Vel Blciotstl glapL 2L B el 120l & !

ovaudeli oifai o uzsRpRt Slell 2Hidun (B850 M8l w2 & ?
(A) g (B)  wlldl 2qpia
(C) eIt (D) 25dsel.

Wasyd slal 2 8 ?

(A)  2ixgla (B) @GG-Aiesl
€y wel D) wélell 2p0ia.
il uRedeni 56 g HGedoll dll & 2

(A) aul B) BB

(C) &ia (D)  agia.

gyl [R5 dela avii e & ?
(A gel (B) #t
(C) Aagd (D) arRen.

IHHHLEL | [P.T.0.
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65.

66.

67.

68.

69.

70.

71.

72,

73.

74.

64 [A]

“dzoilin sS4’ ol el 2 ena ?

(A)  ¥Ysuq (B}  oflevaq

() oloj 524 (D)  w®iel Gsisal.

21veud) 22812 GllRd e Al el

(A) 2 [QEue e &. (B) 2 [@Qfune riaa 8.
(€) 2 [dtuet 2cu6 8 (D) 2 @tua ydareu 9.

ANs il zald st adlol kel S2di el uR =AU 52as] atuR e 52 A, 21 2 d sloii2ll
ueifdd & 7

(A]  ulu2l (B)  sipid
(C) as (D}  waaL

piells A vendel Yo 8. tnet A fioudl Wil 8. vigeus A Moot 2221 D, ol 2telsel Eui
2teall 2 2vitL & ?

(A)  eud (B) [Rae

€} Qe (D) 5151

2Ea oA B ...

(A)  H 2uAlEs [E2u (B) [ wlg g i

(C) 2ldwld el E201 (D}  Hiaa At

“ordell 22118 otottadisl o193 « isieell d 8. an [GEus uzell 2f ciedl as1a ?

(A) o1l adarz 22(8ell Micie HILL & (B)  oidoll el 22ildall 2ntoie el 8
(€} adll vEl vdadl 220dell 2A10ie A S (D} ©tdoll 2208ell 2H1oiE otell Adi.

A dldett 51l 216l [Baa iR e, dl veudl 5 ugstl sidell ugdlal [Razy sal g2l ?
(A} oRulR (B) gysdte |

() ealaar (D) Adar.

dldapiiell sal 2z #ycell Y€l ul 8.

a = (B) @

© A (D)

vitdloroar yel. (e, 3218l ............ , Sidaasl.

(A) G (B)  ciouoll

(C)  aevadl (D) umoll.

“Hol dISA vt v 1L 22210 251 B [Atiet A1 YRidid [ae 2dlul.
(A) 3eells o2t i1 22214 AsA D

(B) gl o1z B0 2224 As1aA B

(C) 3edls oi21 2l 23210l UR atel] 251l

(D) ol 22211 U2 As1dl vitll o1t dlsa la 8,
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76.
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78.
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o [ei2at2dt : [Biewer, dl yp : ?
(a) o (B)  ar2ue
(C) =il (D)  [suel

o21qga A H32 S2dl Giall uet 65 s2di dlal 8. Yl 2 Hder 5240 Giad uer Asval 524l «flal

'8, dl lell ol slet ?

a) Wus (B uéa
Q) [&era (D) ylsa,
Aprzidl il s W2 Slu wvend & 7

(a) e (B)
(C) Musie (D)  e2ArRM!

s & o ilsani 29 s2a 2R ot [Qard ¢ 5& 8§ ?

[A)  od (B) . e
[C) &g @) < Aeulid.
Biegal eNBami Wlatsal Hidl gt 2uadt Aad 2f 58 & 2

(A)  2dfa (B) © 2ws1
(C) &lasi (D)  weldau.

ofldell ilddal AiEu2 uoll 80 20l 83 el vaier 2uul.

Hal A yerdlofl 65 oA 2A5 aet al

udai dl 51§ ¥ aegsu il v geell

un M Wvfl-neer-uep el Slasell

vitnel Weaell ¥ 65, Gvldicll 65 o2l

5{Aell udell v2gsH sl &2l ?

(A cighd wadiel 65 &

(B) « @ieelel GRidicll &5 Sl8al aiefl

(C).  vtnd waaidl 655 8, 202l Med soidiell 655 oi2fl
(D)  ivil, opa a uegpilad auilcell 284,

slasl Facu 2ama w2 yedlou 21 ool B ?

(A)  Dasoer (B)  diocu 2ma w2

(C)  &51 24 i (D)  cid 51 22 W2,

I [P.T.0.
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83.

84,

85,

86,

87.

&8,

89.

90.

a6

MBS M2 st quidd eloe sl § ?

(A) &gMd (B} aegsn

(C) awel (D) &eq

§(2of) um sloL & ?

(A) oEn @lsl (B)  uvil, nopa, ugy, glest
(C) ugpuvll (D) e RFraten s amal.
Sic2loll 521 USRMI Al rilSul sl & ?

a)  ana (B) alde

(C) 618§ (D) Gy,

“ 52 peid weej, d ¥dd u2 eunel 52.” Ui Slofl dla seami pudl @ ?

a) s (B)  alldsy

([C) il (D) e,

Wldtoll (@91 uld v @via ydsa o sélej ?

A) vHadlsaele (B) ' opasidtell

(C) waeqdid (D) VIS,

sicofl dlaudiell iEuR Hva 58 viloid Uz Gla & 2

(A) € (B)  ulsdef) 2iven

() elns D)  esR.

“tor A gollauelt acdatel usell Gu (A2 s2di 2w i v a‘lc[ll Ru@ 8.”
aiseld AIER 88 A 90 sHisell Uailell valel vl

aspii vildl sAsell aziadl gloe sa1 @ 2

(a) (B)  gollau
(C)  wnis D) b,
‘Hlq’ =led o ?

(A} §& (B) i
© il D) ol
disadi sAl ella @sd add 8 7

A &l (B) Geelm
€) [lar2n (D)  oldiE,
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Section -IV / @IE - IV

MATHEMATICS / 7fura

There are 30 questions in all in this section.

All questions are compulsory.
WEE AT 309 € |
A U sfEr §

91. Write the following four numbers in descending order :

. 4203567
II. 4203657
1. 4203756
IV. 4203675

A LI I TV

) I, 1L IV, I

frAfefen 9r demst 1 J9iE] w0 § o
. 4203567
II. 4203657
. 4208756
IV. 4203675

@ I 1000 IV

) LI, IV, lI

92. /Omne crore is equal to

{A) 100 lacs
(C) 10 lacs
TH Hilg T §

A 1009@F

€ 109WE*

(B) L IV, 1L, 1

(D) 1L, 11, IV, 1L

(B) (I, v, 1L 1

D) I, IL, IV, L

(B} 1000 lacs

(D) 100 thousands.

(B} 1000 9 %

(D} 100%T9R % |

[HHHNHT (101

L-1

[ P.T.O.
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93.

94,

95.

o8 S

The number 5 crores 9 lacs 4 thousands 9 hundred eighty-eight in numerals can be

written as
{A) 59004988 (B) 590400988
(C) 509049088 (D) 50904988,

& 5HUE 9T@ 4 F9R 9 W HIE I i A fomm W am A ¥
(A} 59004988 (B) 590400988
(C) 509049088 (D) 50904988.

The population of a village is 78692. Out of which 29642 are men and 28167 are

women and the remaining are children. Then the number of children is

(A} 20883 (B} 21883

(C) 20893 (D) 20783.

TF A H Fo SEE 786928 17 A 20642 7E9 ¥, 28167 A Eam i w=m & o @
<31 #I HEr ¥

(A) 20883 (B) 21883

(C) 20893 D) 20783.

If we divide zero by 60, then the dividend, divisor, quotient and remainder are

respectively
{A). 0,60, 0,0 (B) 60,0, 1,0
(Cy 0,60,0,1 (D} 60,0,0,1.

Y H 60 H W 33 W WG, WIS, HITHRT & AHE HAe: §
(4} 0,60, 0,0 B 60.0, 1.0

@) 0,60.0.1 (D) 60, 0, 0. 1.
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96. The value of 15 coins of 25 paise each 1s equal to

I

I1.

I11.

A%

3 coins of one rupee + 1 coln of 50 paise + 1 coin of 25 palse
2 coins of one rupee + 3 coins of 50 paise + 1 coin of 25 paise
3 coins of one rupee + 3 coins of 25 paise

3 coins of one rupee + 2 coins of 25 paise.

In the above four. the wrong statement is

VI B I

Cc u o) v,

2598 ¥ 15 fasen] &1 W a &
I. &% % 3 faFr + 5098 71 1 fagwn + 2699 +1 @& foas
II. &% ¥ 208 + 50T F 3o + 2599 =1 1= fagt
. T& %o & 3faaw + 2607 & 3 faee
V. &% & 3faad +« 2580 & 2fass

I9fes 9 ® e HeE ?

A 1 B I

c 1 (D) IV.

97. The arrangement of the fractions % , % , 313— . % in ascending order is

A
@ 3.
fat 2.
W Z.
© 3.

L3 NERRY
o 2153
%,%.%wmﬁm%

L. o 3352
785 ® §.3 33

L-1

[ PT.O.
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98. I the cost of 5 pencils is 3% rupees then the cost of 2 pencils is

3
{a) Re. 1

4
(C] Rs. 3

afe 5 Uf<aedi &1 e 32 %o ®, @ 2 AfFweAi 1 e A

@ 2w
© 5%

(B)

(D)

(B}

(D)

99. Which of the following statements is true ?

(A) 1 is not a prime number
(C) 1 is a composite number
A A d FR-w e wdt & ?

@A 139 qen AT

© 14y® TEE

(B)

(D}

(B)

(D)

100. The prime factors of the number 720 are

A) 2x2x3x3x2x5H
() 3x3x4x4x5H

&A1 720 F 39T UGS §
A 2x2x3%x3x2x5H

() 3x3x4x4x5

(B

(D)

(B)

(D)

3
Rs. )

2
Re, 3 -

(1T
A
o]

N2
3

1 is a prime number

2 is not a prime number.

1 37199 WA §

2 A A& TE |

2x3x4xbHxb

Z2x2x2x2x3Ix3 x5,

2x3x4x5x6

2x2%x2x2x3x3x%x5.
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101. What is the highest common factor ( HCF ) of the numbers 425 and 476 ?
B 4 (B} 5
cy 17 (D) 51,
FEms 425 TN 476 FT HEWH TAGTEF ( Ho Ho To) ¥
A 4 {B) 5
17 (D)  5I1.
102. What is the least common multiple { LCM } of the numbers 90, 60, 75 and 35 ?
(Al 2700 (B) 6300
{C) 4250 () 2750,
&S 90, 60, 75T 35 AYIH TATEH ( To oo ) ¥
A 2700 (B) 6300
() 4250 D} 2750.

103. Five persons paint a house in 3 days when they work 8 Hours everyday. Then if one
person works 4 hours everyday, how much time ( day } will he take to complete the

same work ?

A) 30 (B)

al© Na

@ g )

T& AFMF F @R 53w, 8% UG FW = 3fA N w@ ¥ O 1 =, 4 9 U9 FW T
9 Fm = fem g3 7 wom 2

15
@ 30 ® 5
© g o .

[ [ P.T.0.
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72 [A]

104. The marks obtained in 4 subjects In an examination are 200, If the average of marks

105.

106.

obtailned in 3 subjects is 48, then how many marks are obtained in fourth subject ?
(& 50 (B) 144

(@) 152 (D) 56.

TF Wi # 9r fawd d um g o 200 ¥ 1 9z 9 fawm o ww ol @ sfwa 48 % A =i
fawa ¥ yw i F

A) 50 (B) 144

(CQ 152 (D) 56.

A person sold a cycle at Rs, 935 with a gain of 10% then at how much amount did he

purchase the cycle ?

(A) Rs. 945 (B) / Rs. 850

(C) Rs. 925 (D)= Rs. 1,085,

T s A TF GEfFed 935 Fo W 10% &N R A= d@1 3T 98 Wfaa fhad To d @ldt off ?
A) 945%0 (B) 850 To

© 925% D)  1.085 %o !

A person took some loan from a bank at the rate of 15% annual interest. If he pays

back Rs. 7.250 after 3 years then what is the amount of loan ?
(d) Rs. 5,000 (B) Rs. 4,500
() - Rs. 6,500 (D) Rs. 5,500,

% =i A % A T T 15% AeE =9 R ¥ 3un faar | orR f5 e 9] 9% 7,250 %o
TR = &, N 399 foha v IR formn on 2

[A) 5,000%c (B) 4,500 %o

[C} 6,500% D) 5,500 %< |
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107. What is the interest on Rs. 500 for six months with a rate of interest 8% calculated six

monthly ?
A Rs. 20 (B) Rs. 30
{C) Rs. 48 D) Rs. 40,

500 %0 F 6 HEM F1 8% Fl BRI W ¥ =09 arm
(A}  20%0 (B) 30%o
[C} 48%0 (D) 40%o |

108. A person X sells an article of Rs. 100 with a loss of 10% to the person Y. Y sells it at a
gain of 10% to another person Z What is the price at which Y sold the article to Z ?

(A)  Rs. 100 (B) Rs. 99
{C) Rs. 110 (D} Rs. 101.

T HH X, 100%0 B FTGF, 0% F eI AT Yy RammE ) v,sg = F 10%
Av A SAfs zR IR ME, @ YA TFE g wawg z F 9= ?

(&) 100%o (B) 99%o
(© 110%e (D) 101%o |
109. Which is.a plane ifithe following ?
(A) - Paper sheet (B)  Glass
{©) [ Ball (D)  Cylinder.
o gl A A WA T & 2
A FT= B T
C) 7] (D) & |
(IR [ P.T.0O.
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110. Which of the following statements is not true ?
(A}  The figure formed by two rays passing through a point is called an angle
(B) A closed figure formed by three line segments is called a triangle
(C) A figure formed by three lines is called a triangle

(D) In a rectangle the length of opposite sides is same and each angle is a right

angle.

fAdfdsRm s s e ?

@) fdl o= fag & o Tl R el @ o s €

(B) el 6 TEmEvel A frdt g a P W By Ewe §

(C) fow=l v Tamed A il supfa =+ e #ed €

(D) 3190 & AHA-| =l Y3l &) =R GH7E gt § 99 F&F I FAH B ¥ )
111. Which of the following is true fora triangle ?

(A)  All the angles are always acute angle

(B) One angle is always a right angle

(C) One angle is always an obtuse angle

(D) One angle is always an acute angle.

fFa et asm-aseam ?

(A} THE T GG A F9 e §

(B) U FIv TE WSV € &

(C) UH FI 99 Aiusw o B §

D) T Hv e = P AW E
(RHTEIRHT
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112. How many triangles are there in the following figure ?

@A 5 (B)
@ 3 (D)

fren o & foped B ¥ 2

A b5 (B)

) 3 D)
113. The sum of all interlor angles of a square is

(A) 180° (B)

€ 270° D)

o & W0 A= w9 Ea ¥

(A 180° (B)

(@ 270° (D)

360°

noene of these,

360°
79 & X =T |

[ P.T.O.
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114. Which of the following statements Is correct ?
(A) A square Is a particular type of rectangle
(B) A rectangle is a particular type of square
(C) Every ray is a line segment
(D) Straight angle is of 90°.
FadaaR-wFR Tt ?
@) = T e W T T g #
(B) &T9d T fa@y W Tl g
©) v fFm o wrave gk @
(D) 9/ WA HU F} 99 900 Nl &4

115. One has to run 250 meétres to take one round of a ground. A girl has run
75000 centimetres, Then how many rounds has she taken and how many rounds

more will she have to take in order to complete a run of 3 kilometres ?
@ 3,9 (B) 30. 90
{C) 3,980 (D) 30, 9.

ol e o T T A 4 250 F e tSW } | TF weHl 750004 A gt ¥ R W
R =ert od iR 3 ot #1 s T T & forw 39 ot fae =@ @ B 2

A 3.9 [B) 30, 90

() 3, 90 (D) 30, 9.

P 101
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116.
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On subtracting 8 metric tonne ( mt } 50 kilogram from 12 metric tonne 8 quintals we
get
(A) 3 mt 8 quintal (B) 4 mt 7 quintal 50 kg
(C} 4 mt 8 quintal 50 kg (D) 3 mt 8 quintal 50 gm.
12 Hifgah 27 8 fif=er ¥ @ 8 Wiy =4 50 fFciy™ wed W M gl ¥
@A) 3Tifew T 8 Twew (B adifew 27 7 faded 50 fFe R

() 4difgw 27 8fwdza 50 fFen mH (D) 3difgsw =7 8 fasew 50 fe T |

A tank has 400 litre water. If 12 litre 500 ml water is useéd from it and the remaining

water is filled in 25 cans of same capacity, then what s the capacity of each can 7
A) 121t 500 ml (B) 13 1t 500 ml
(1 151t 500 ml (D) 14 1t 500 ml.

TF TR H 400 WX 9T & 1 THE ¥ 12 @t 500 fidiei A ®| 3 @R % 95 99 9 &
T &HAT % 25 fesai O iy 91 | T F feos &l s §

(Al 12 500 fuet (B) 131 500 faet
() 157 500 faet (D) 147 500 fAeT |

Which of the following statements is incorrect for the time taken by big hand of a
clock to reach from one digit to exactly next digit ?

(A) 5 min (B) 300 sec

(©) 11—2hour (D)  one hour.

el 4 93 g F Torelt i @ St o ofF v T W oA A T F few e § @ Se-w
IHR ?

A 5fFe B) 3009F=<

1

ﬁt."‘c:r D) U= Y |

(€)

(UL | P.T.0.
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119. The length and breadth of a rectangular field is 60 m and 40 m respectively. If on the
outer of its four sides the grass of 5 metre width is planted. then the area of grass

planted field is
A) 1100 m (B) 525 sq.m
(C) 1100 sq.m (D} 525 m.

T AETR BeF &t TR 60 W aon =tgi 40 ) 3% 90 iR 9t ®™F 5 e #
| TR S Al ST A el e 1 &R g

(A} 11007 (B) 5250 Tt
() 1100@ =t D)~ 525 1|

120. A rectangular photo frame X is of 90 cm length and 70 cm width and a square frame Y

is of side 80 cm. Then which of the following is correct ?

(A) Perimeter of frame X is 8300 sq.cm

(B) Perimeter of frame Y is 6400 sq.cm

(C) Perimeter of both X and Y frames {s same and is equal to 320 sq.cm.
(D) Perimeter of both X and Y frames is equal to 320 cm.

T AR 7 % %0 X&) TEn 90 o 9ur w70 9 § iR T wieRr ¥ vE e
godf e afm i A F-mEr gt ?

A) T X %1 9fEmg 6300 @ @ Tm
(B) W Y W 9REY 6400 F A4t TN
) S X g9 v & qi™N sU= ud@ 320 71 w6 gn

M} A HH X 9 YH UftAY 320 T F S EOT |
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SECTION -V
s - v
ENVIRONMENTAL STUDIES

TRieRuT yaT

There are 30 questions in all in this section.
All questions are compulsory.
TEEEH FA SOTHE |
Wit v sfed §

121. Nuclear family refers to
(A)  any family born after 1950
B) family includes parents and their children
(C) entire family including children, their parents and grandparents
(D) only husband and wile,
TFd IER ¥ we €
() 99 1950 % W1g T 9RER
(B) 9fer faud mwe-fia @ s a=
© wopel sfEr faed 9=, 399 wran-fr o grel-gR)
(D) o WiH-Te |

122. Tobacco addiction is due to

(A) - Cocaine B}  Caffeine
(C)._Nicotine (D)  Histamine.
g, w aed fRT A AR E 2

(&) FTHI B FPH

© fwifea (D) Tewaiw
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123. What are the minimum ages for marriage of boys and girls in India ?
{A) 21 years and 18 years
{B) 18 years and 21 years
({C) 18 years and 18 years
(D) 18 years and 16 years.
A & dgs 9 Fefndl #) faam 9 e sy s ¥ ?
A) 21397 1899
(B) 18=dd 2194
© 18993 18%d
D) 18T9d 1=y |

124. Main occupation of people of Rajasthan is

(A)  mining (B)  bakery
(C) poultry farming (D)  agriculture.
[T % il 1 T Haad €
W A B W
(€ Fitwe D) T
125. Which of the following places of Rajasthan does not have sugar factory ?
{A) © Keshoraipatan (B) Nimbahera
(C)  Udaipur D) Bhoopal Sagar.

o H e § @ TR M W 99 R % SRaE TRl & 2
&)  FIEIURA B fewRen

) SsAg (D) Y9 € |
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126. In case of fraud or unfair business behaviour, we should lodge a complaint at
() Consumer Protection Forum
(B} District headquarters
(C) Tehsil
{D}  Gram Panchayat.
It Ay FFfEa AT AR e T TH ferram et =ifeq
(A)  STVYET TRYW HE H
(B foen wEeE &
IC) e #
(D) 7w d=EEa w )
127. How many members of Rajya Sabha are nominated by the President ?
A 12 B) 18
{C) 20 D) 22.
gt g aaEeT H e wae weAe g ¥ 2
@ 12 B 18
€ 20 D) 22,

128. District industry centre provides employment to urban and rural youths under a

scheme known as

(A) . Prime Minister's Gramin Sadak Yojana
(B) Prime Minister's Rojgar Yojana

(C) Jawahar Gram Samriddhi Yojana

(D) Swarna Jayanti Gram Swarojgar Yojana.
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(A)  vuRE I g F g

(B] WU IO G

(C) wmETes T TYfE A

(D) & S A WISTR ASE

129. Which country has the maximum number of tube-wells in the world ?

(A) America B) Australia
{C) China (D)  India.
Har ¥ sfvshan egead fra m T § ?

@ AR (B) | mefe
© == (D} 9@ |

130. The Gangaur festival is celebrated on

(A)  Chaitra Shukla Teej

() Shravan Shukla Teej

(©) Bhadrapada Krishnapaksha Ashtami

(D) Chaitra Shukla Navami.
MR &1 B F74 S §

A =3 yEd S

(B) #A YEF A

(C) WIETE FOrae JEH +

(D) = &R TIH @6
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131. City of Lakes in Rajasthan is

(A} Jaipur (B)  Jodhpur
(C}  Udaipur (D)  Ajmer.
Trem ® 3l TR §

(A) AR (B) YR

(C) SR D) 3R |

132. Who built the Vijay Stambha ( Tower of Victory ) ?
(A) Maharana Kumbha (B) Maharana Sanga
(C1 Maharana Pratap (D) Maharaja Jaisingh.
T we foras sAam@ 2
(A)  HEUON $F (B)  WETIOM |
(C) WEWOn ¥ar (D) RIS SEHE )

133. Following traffic sign/indicates :

(A) Major road (B) Pedestrian crossing

(C} Railway crossing (D) Narrow bridge.
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fr=ifera arnaT e &1 e ¥
(A T=AESH ® w yRuy
© Yo seifam (D) Hd g |

134. Full form of ATM is
(&  Automated Teller Machine
(B) All Time Money
(C) Automated Transfer Machine
(D)  Audit Teller Machine.
TEH F1(0 w @
(&) _sifEride Ter wea
(B) 3ie 2H WA
C) SHIEHEE gimwt A9
(D) 3Aifse o’ =i |
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135. Message sent by computer is known as
A SMS (B) FAX
(C) E-mail (D) Telegram.
FOGE F A B U T A W ) Fwd §
W T ®

() I-®a (D) o= i

136. Carrier of Dengue disease is

(&)  Aedes mosquito B) . Culex mosquito

(C) Housefly (D)  Anopheles mosquite.
37 I 1 AEF T

(A)  TEN Fws B T TSt

(€ = At D) TARERAS A=

137. The biochemical laboratery of human body is
(A) stomach (B} liver
(C) . intestine (D) kidney.
s T YR & SiE-ueraiie yareal ¥
(a) SR B) 9Fd

(C) 3% D) T |
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138. Aim of Pulse Polio programme is
(A) treatment of Polio
(B) stop paralytic effect of Polio
(C)  complete eradication of Polio
(D) all of these,
o iferdr FwHA F IRI ¥
(a) difE W SYER
(B) diferdr @ I a1 Y VA
(C) RfAE &1 Fogul IjgER F
(D) TH | st
139. Kashmiri Gown is known as
(A)  Firan (B) Angrakhi
(C) Bugtari (D)  Achkan.
FYHN =M Fewrar §
W feE ®) s
€ g (D) A=A |
140. Habitat of Dog fish 1s
(A) - River (B) Pond
(C)  Lake (D)  Sea.
& Aol % Ay ¥
ly = B) =
© = (D) 99K |
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141, Full form of CNG i1s

(A) Common National Gas
(B) Compressed Natural Gas
(C) Common Natural Gas

(D)  Certified Natural Gas.
et & U w9

@& HEA AvEa e

(B) FEE IPE

() A TRa |

(D) wfEwrs Ta iy |

142, Wildlife Week is celebrated .on

@)

(B)

(€)

(D)

1st October to 7th October

15th October ta 2 1st Octaber

1st June to 7th June

15th June to 21st June,

= Sie 9EE A W@ R

A

(B)

(€

(D)

1 SRR ¥ 7 SR T
15 3R ¥ 21 I TH
1A ® 753 T

155FH 21 A TF |
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143. State tree, state bird and state animal of Rajasthan State are

(a)  Khejari, Godawan, Chinkara
(B) Khejari, Peacock, Tiger
(C) Babool, Godawan, Lion
(D} Mango, Peacock, Tiger.
TR U9 & o9 g8, 759 &) qo1 T4 g W §
@A GAqEt, MeEm, fawr
(B) W@V, AR, 9
() 9@, MeEY, N
D) @™, H4R, & |
144. In which state of matter, the distance between the molecules is minimum ?
(Al  Solid (B) Liquid
(C) Gas (D) Plasma.
werdf 1 frg emen ¥ s1pedl & W A ) <aw gl € ?
@ <m B 73
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145, Which state is known as ‘Tiger State’ ?
(A)  Rajasthan (B)
(C) Gujarat (D)
aﬂq-mw‘mé@éﬁmﬂmm% ?
A TS (B)
€) T (D)
146, Which of the following has maximum speed ?
&) A (B)
(©) Sound (D)
frefafea 4 feae 3 sfyFaw @ ?
@ T (B)

I = (D)

L-1

West Bengal

Madhya Pradesh.

ufeem ser

e W2y |

Water Current

Light.

AT

EEIE

147. Which energy is converted into electrical energy by a solar cell ?

(A) Chemical energy (B)

(C) ~ Solar energy (D)

Nuclear energy

Magnetic energy.

AR A R form oot 0t fogge ool A s wASA ¥ 2

(&)  TEEE FA (B)

(C) wwTe S (D)
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148. Maximum amount of gas found in air is

149.

150.

@  oxygen

{C} hydrogen

T ¥ waifys g § a9 St W R
(A) A
C) TREEA

Renewable source of energy is

(&  Coal

(C) Plants

FEl H AAHONT HI ®
(&) FrEn

© 9

Ozone layer is found.in

(a) Thermosphere

(C)__ Troposphere

S T e &
(A) wAtERRE o
Q) SRR H

(B)

(D)

(B)

(D)

(B)

(D)

(B)

()

(B)

(D)

(B)

19

101

carbon dioxide
nitrogen.
FE S3SHARES

REE |

Petroleum

Uranium.

Stratosphere

Mesosphere.

WA T

fasrewmar 9 |
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INSTRUCTIONS /
{ Read carefully and comply / S mw T w6
IMPORTANT / Weequt

1. In Section 1] (Language I) a candidate has to attempt the gquestions of the language which the candidate has selected as
Language T in the Online Applicationy Form.

@ug i (am 1) o I 9T F Wt W g e afrrd ¥ (9w o s qu onaget 2 a1 F w9 F SiAends sEesT O e 2

2, In Secuon 1l (Language (I} a candidate has to attempt the questicns of the language which the candidate has selected as
s;ge 11 in the Onling Application Form, The Language Il will be different from Lapgu
=TS 1) ¥ & SFE & e A e e e A am % e A E]%-ﬁﬁfﬂﬁﬂl%l‘ﬂﬂnﬁfﬂuﬁﬁﬁﬁl
3. The candldate mus| ensure that the Question Booklet No. has been filled correctly at thc prescribed places in the OMR Answer Sheet.
a4 oMR ¥ie ¥ WA WU JRaE FH T §
1. Read complete instructions carefully and fill the details from Sl. No. 1 to 6 in the OMR Answer Sheet and S]. No. | to 4 ini the

Question Booklet. If you fail to flll the detailys and sign as instructed correctly, you will be personally responsible for the

conscqucnccs ansmg du nng scann:ng of your Answer Sheet.

ﬁlivﬁai’r mlﬁﬁaa;omuﬁzmm1ﬂ4ﬂ$w=r'1ﬁ?m(qaﬁz)a€rﬂiluﬁmwaﬁ#ﬁ
g Tl oMR TIZ F T F FERAET g4 It TR afa A = e i

2. OMR Shec; No. should be writter; in the space provided in the Question Booklet,
"t Tl Tt e

OMR ¥12 W6 0T e A 9 ™ W il i

3. The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates
will open the Question Booklet seals, Check whether the Boeklet containg 150 qucsuons starti rrom No. 3099, .
:Eos T 06 9B TA 150 WET E| TRGT PRE T AR & SWET B 1A R we o o % e g |
150 A & 3t o g T 3 @ W #iwT g0 v &y

4. All questiona are of MCQ (Multiple Chodce Quutlonl] type There is only one correct answer to each question carrying one

mark There will be no negltlvn marking fo
qﬂﬁa L ilmmwwﬁlmﬁvﬁ%lmm#hﬁﬁﬁﬁaaﬁ@hwmtﬁﬂr&mm

5. All quest:lonl other than language estlonl of 8ections IT and 1II shall be hilingual.
w9 A mm&amnq&’m SRS v et vt & vy fawmdg B

6. In any event of any mistake in any quesnon/ s, candldates will not he penalized. However no corrections will be made in

uestion/s during the examination., ) )
7S e i o e i e e o e ek g e A e et 3 Feht T s @ s s

7. Rough work, if any, may be doneg in the Question Booklet only in the space provided ac the end of the Boeklet. Do not tear it off
from the Question Booklet. No additional paper shall be provided.
ot wR % TE T ¥ 9 YA & 9 0 T ¥q TME & &G R e gieaar & T8 ) fed wew w Afafor ema sves @
T S

B, Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not
allowad Their use will result in dlsquallﬁcatlon

@awm Wi, fesitee S @1 fFat 7 v 1 ST Ivew / SR W aw & v

:ﬂa’rfr e € Fg ey 10 W 1

9. OMR Answer Sheet will be provided alor%mth Question Booklet separately.
oM ¥MZ, 09T % g

10. The Question Booklet will be issued 1o the candldatc at 10:45 A M. and the candidate must fill ail entries in Question Booklet
and OMR Answer Sheet. The Question Bocklet seals shall be opened at 11:00 A M. After opering the Question Booklet, ensure
that any page/ question is not missing / not printed / torn / repeated. In case, you find any defect anywhere in the Question
Booklet, immediately inform the Invigilator and get it replaced within 10 minutes by the [nvigilator. Warning Bell will ring at

2:25 P.M. d the l l bell will 12:30 P M.
S 2 s g T osas A o T atmﬁwmﬂmg%wﬁxoua:ﬁzﬁuﬁuﬁ&ﬁ#ﬁ|m = wer

BT 1§99 11:00 99 §) 97 WIEA & TTET YT e 9% = & e T g al

¥ oI w%]}mmr?ﬁ twaﬂ?qva qswtwﬁm ﬂmmﬁﬁﬁﬂ$&ﬁ qaﬁ

mﬁﬁmmﬁﬁzt‘ﬂmm 3@1 o | YA S SR )2:25 W @9 v sfam ot Elz"rfrqs?lzaoqt
t

11. Write your Exam Centre Code, Roll Mo, QMR Answer Sheet No., Question Booklet No., Name and put your Signature in the
space provided in the Question Boolklet as well as in the OMR P.nswer Sheet. .
™ 9 OMR ¥z 5T FHulien ©F W T 3% F FE, T TA, OMR ¥E 9w, W9 G wH, A o T 3 g wi |
12, With each guestion you will find 4 possible answers marked by the letters A, B, C & D. Read each guestion carefully and find
out which answer, according to you is cotrect, indicate your answer by darkening the appropriate rircle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use blue/black ballpoint pen onty. Gel pens / pencils are not
allowed.

T T % TN 4560F I A, B, ¢ T 0 N R 7 ¥) uw @ wim 9% g WEl T 9 959 HT IHH I F OMR Fie ¥ wafaw
Eﬁ?ﬁ#mﬁavﬁﬁaﬁmmsﬁmﬁlsﬂ&ﬁmﬁ% Fl m T T 1 W 960 w1 S 99 W 9w o AU

Correct method : | CORRBCT/ F | 000 eppion : | WRONG / TRt WRONG | Toid | | WRONG / TTHA WRONG / 75T
OQO @ | ™ T BOOO| 0000|0000 |00 e
13. OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the

OMR Answer Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account
shall be of the candidate only.
OMR ¥z ® Ty m%mmw%mﬁmm@onaﬂzﬁﬁﬂnﬂﬁhﬂﬂmaﬁm?hammm
mqqur—ra:ﬁﬂz’tm| T FO9 § W B 24 A TRRE ) TEER) S9! T g

14. No candidate should leave the Examination Hall before the {inal bell, The Question Booklet as well as the OMR Answer Sheet

hldbh;&dd togeth: the Invigilator before § the E t: Hl]
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